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Question Number : 1 Question Id : 1908897822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What was the contribution of the agriculture sector i India's Gross Value Added (GVA) at
current prices, during the year 2019-207

13.8 per cent
17.8 per cent
19.8 per cent
21.8 per cent

e L 2 =

Options :

19088931181. 1
19088931182. 2
19088931183. 3

19088931184. 4

Question Number : 2 Question Id : 1908897823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following falls in the category of edaphic factors affecting crop production?

Precipitation
Atmospheric hummdity
Soil organisms
Altitude

N e B



Options :

19088931185. 1
19088931186. 2
19088931187. 3
19088931188. 4

Question Number : 3 Question Id : 1908897824 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The seed rate required for paddy under the system of rice intensification 1s

1-2kgha

5 - 10 kg/ha
35-40kg/ha
90 -100 kg/ha

o i Pa =

Options :

19088931189. 1
19088931190. 2
19088931191. 3

19088931192. 4

Question Number : 4 Question Id : 1908897825 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The disease resistance in plants 1s imparted by

U It
2
]

Options :
19088931193. 1
19088931194. 2

19088931195. 3



19088931196. 4

Question Number : 5 Question Id : 1908897826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a constituent of chlorophyll?

N1
Mg
Ca
K

W R

Options :

19088931197. 1
19088931198. 2
19088931199. 3

19088931200. 4

Question Number : 6 Question Id : 1908897827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

How many nutrients have been declared essential for plants so far?

13
15
17
19

[ P I

Options :

19088931201. 1
19088931202. 2
19088931203. 3

19088931204. 4

Question Number : 7 Question Id : 1908897828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Translocation homozygotes lead to alteration in

gene number
linkage map
sequence of genes
linkage groups

B T

Options :

19088931205. 1
19088931206. 2
19088931207. 3
19088931208. 4

Question Number : 8 Question Id : 1908897829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If §, >2S.E5 ) then we

reject Ho
reject Hy
accept Ho
accept Ha

W R

Options :

19088931209. 1
19088931210. 2
19088931211. 3
19088931212. 4

Question Number : 9 Question Id : 1908897830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Amongst the following states, three largest rice producing states of India 1n 2019-20 were
A Haryana

B. Punjab

C. Tamil Nadu

D. Uttar Pradesh

E. West Bengal

Choose the correct answer from the options given below:

1. ABandD
2. BDandE
3. CDandE
4. A BandC

Options :

19088931213. 1
19088931214. 2
19088931215. 3

19088931216. 4

Question Number : 10 Question Id : 1908897831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Phosphorus (P) contributes favourably to the development of plants with respect to
A flowering, frmting including seed formation

B. crop maturation

C. imparting green colour

D. increasing succulence

E. cell division

Choose the correct answer from the options given below:

A, B and C only

B, C and E only

D, E and A only
A Band E only

O R

Options :

19088931217. 1
19088931218. 2
19088931219. 3
19088931220. 4

Question Number : 11 Question Id : 1908897832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify correct statements about the Pradhan Mantri Gramin Sadak Yojana (PMGSY),
a major rural development project.

A It was launched i the year 2000

B. It amms to provide all weather connectivity to all unconnected rural habitations
C. It has completed two phases and the third one 1s going on

D. More than 6.44 lakh km road length has been constructed

Choose the correct answer from the options given below:

A B and C only

B, C and D only

A, Cand D only
A B and D only

W R R



Options :

19088931221. 1
19088931222. 2
19088931223. 3

19088931224. 4

Question Number : 12 Question Id : 1908897833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 15 frue about Deen Dayal Antyodaya-National Rural Livelithoods Mission (DAY-
NRLM)?

A aims to alleviate rural poverty through building sustamable community mstitutions of
poor,

B. does skill building of rural households for sustainable livelihood opportunities,
C. does not provide last mile financial services in remote rural areas through BC Sakhi,

D. does the capacity building of Community Resource Persons under the mission to provide
support to the community mstitutions.

Choose the correct answer from the options given below:

A B and C only
A, Cand D only
B, C and D only
A Band D only

B s

Options :

19088931225. 1
19088931226. 2
19088931227. 3

19088931228. 4

Question Number : 13 Question Id : 1908897834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List I

[List I List II

A Rice L. Pyrilla

{B. Wheat II. The Plume moth

c. Pigeon pea TII. The Ghujhia weevil

D. Sugarcane IV. The Brown plant hopper

Choose the correct answer from the options given below:

1. A-IVB-IILC-II,D-1

2. A-IIB-IMMLC-IV,D-1

3. A-IB-IIILC-II.D-IV

4 A-IIILB-II.C-IV.D-1
Options :

19088931229. 1
19088931230. 2
19088931231. 3

19088931232. 4

Question Number : 14 Question Id : 1908897835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

[List I List IT

A Chisel plough [I. Deep ploughing

{B. Rotary plough 1. Breaking clods and destroying weeds

C. Disc plough [II. Cut and pulverize the light soil

{D. Harrows I'V. Breaking the subsoil |
E. Cultivators V. Preparatidn of seed beds and destroying weeds|

Choose the correct answer from the options given below:

A-IVB-IILC-V.D-IILLE-I
A-IIB-NLC-V,D-1,
A-IIIB-1IV, I, D -

[LD-

E-IV
C- E-V
A-IV.B- II[C E-II

R A

| B
v
Options :

19088931233. 1



19088931234. 2
19088931235. 3

19088931236. 4

Question Number : 15 Question Id : 1908897836 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A Wheat I. Biopyribac-Sodium

B. Maize II. Fluchloralin

C. Gram III. Tembotrione

D. Rice IV. Clodmnafop Propargyl

Choose the correct answer from the options given below:

AT B-TV.¢-1D-0
A-IV,B-I,C-I,D-1
ANB-HLC-LD-IV
A-IV,B-I,C-I,D-II

R

Options:

19088931237. 1
19088931238. 2
19088931239. 3

19088931240. 4

Question Number : 16 Question Id : 1908897837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

List I List IT

A Cypermethrin [I. Organophosphate

B. Acetamipﬂ& ind C-‘lll.mmated.llyérncarbnn
C. Lindane III. Synthetic p}u'etlﬁoid

D. Chlorpyriphos V. Neonicotinoid

Choose the correct answer from the options given below:

AT BTV, €10 D=1
A TLB IV.C-TMLD-I
A-IWB-TM C-ID-H
AT B WA ST T

B R

Options :

19088931241. 1
19088931242. 2
19088931243. 3
19088931244. 4

Question Number : 17 Question Id : 1908897838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange the following crops on the basis of their yield in the descending order
A Sorghum

B. Soyabean

C. Rice

D. Sugarcane

E. Urdbean

Choose the correct answer from the options given below

I BCAHE
2 CDEAD
3. ADBEC
4 ECADB

Options:



19088931245. 1
19088931246. 2
19088931247. 3

19088931248. 4

Question Number : 18 Question Id : 1908897839 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange these financial and development mstitutions chronologically when these were set up
in India starting from the earliest to the latest:

A ARDC

B. AFC

C.NABARD

D_RBI

Choose the correct answer from the options given below:
AB.D.C

B,A.D,C

CD,AB
DA B,C

e e N

Options :

19088931249. 1
19088931250. 2
19088931251. 3

19088931252. 4

Question Number : 19 Question Id : 1908897840 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Chronologically arrange these agricultural research mstitutions according to the years these
were set up starting from the earliest to the latest:

A CAZRI Jodhpur

B. NDRI Karnal

C. RLBCAU Jhansi

D. UAS Dharwad

Choose the correct answer from the options given below
A BCD

B.A.D.C

C.D.B.A
D,ABC

B e

Options :

19088931253. 1
19088931254, 2
19088931255. 3

19088931256. 4

Question Number : 20 Question Id : 1908897841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the critical stages of crop growth for wrigation scheduling m rice from germination
to maturity 1n the correct order.

A. Seedling stage

B. Panicle initiation stage
C. Maximum tillering stage
D. Flowering stage

E. Soft dough stage

A B,C.ED
B,C,E,D A

D,B,C.E A
A B C.DE

B e

Options:



19088931257. 1
19088931258. 2
19088931259. 3

19088931260. 4

Question Number : 21 Question Id : 1908897842 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A : Indica rice are better adapted to low temperature while Japonica rice to high
temperature for better ripenung.

Reason R : Indica rice are grown throughout the tropics and subtropies while Japonicas are
limited to temperate and subtropics.

In light of the above statements, choose the correct answer from the options given below

Both A and R are correct

A 15 correct but R 1s incorrect
A 15 mcorrect but R 1s correct
Both A and R are mcorrect

R e R

Options :

19088931261. 1
19088931262. 2
19088931263. 3
19088931264. 4

Question Number : 22 Question Id : 1908897843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ICAR-Vivekananda Parvatrya Krishi Anusandhan Sansthan (ICAR-VPKAS) i1s located at
Almora.

Assertion A :VPKAS can dissemunate technology and capacity building in all hill states.

Reason R : It 1s mandated to disseminate technology and capacity butlding on hill agriculture

In light of the above statements, choose the correct answer from the options given below

Both A and R are correct

A 15 correct but R 15 mcorrect
A 15 incorrect but R 1s correct
Both A and R are incorrect

W e I

Options :

19088931265. 1
19088931266. 2
19088931267. 3

19088931268. 4

Question Number : 23 Question Id : 1908897844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Red cotton bug 15 a serious pest of cotton.
Assertion A : It can be controlled by applying insecticide m so1l.
Reason R : It lays eggs m/on soil.
In light of the above statements, choose the correct answer from the options given below
Both A and R are correct
A 15 correct and R 1s incorrect

A 1s mcorrect and R 1s correct
Both A and R are incorrect

B R

Options :

19088931269. 1
19088931270. 2
19088931271. 3
19088931272. 4



Question Number : 24 Question Id : 1908897845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The Farmers (Empowerment and Protection) Agreement of Price Assurance and Farm
Services Act, was passed in 2020

Assertion A : It provides the freedom of choice to farmers relating to sale and purchase of
their produce even outside APMCs.

Reason R : It aims to set up a national framework on contract farmmng.

In light of the above statements, choose the correct answer from the options given below
Both A and R are correct

A 1s correct and R 15 mcorrect

A 15 incorrect and R 1s correct
Both A and R are incorrect

B N e R

Options :

19088931273. 1
19088931274. 2
19088931275. 3

19088931276. 4

Question Number : 25 Question Id : 1908897846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"How to produce" refers to:

Which goods and services and how much of each are to be produced

How many of the wants of various people are to be satisfied

How to maintain the economic system by replacing capital goods used up m the
production process

4. The combination of resources and techniques of production to be used

L O R

Options :
19088931277. 1
19088931278. 2

19088931279. 3



19088931280. 4

Question Number : 26 Question Id : 1908897847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of consumption expenditure to income 1s called:

Basic consumption

Average propensity to consume
Expected consumption
Marginal propensity to consume

[ R

Options :

19088931281. 1
19088931282. 2
19088931283. 3
19088931284. 4

Question Number : 27 Question Id : 1908897848 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Personal income 1s:

The amount of income received by the household sector during a given year
The amount of income households have available for spending during a given year
National income less indirect taxes

The sum of wages plus interest recerved by the household sector during a given year

B e B

Options :

19088931285. 1
19088931286. 2
19088931287. 3

19088931288. 4

Question Number : 28 Question Id : 1908897849 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 15 used as money 1s determined by:

1. Law of customs
2. Government's acceptance of a commodity standard
3. Government's acceptance of an inconvertible paper standard
4. TIts use as a store of value
Options :

19088931289. 1
19088931290. 2
19088931291. 3
19088931292. 4

Question Number : 29 Question Id : 1908897850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Bhoodan movement was started by Acharya Vinoba Bhave in 1951 from:

1. Poonamallee in Chennai

2. Panchmarhi in Madhya Pradesh

3. Pochampally in Telangana

4. Panchvati in Maharashtra
Options :

19088931293. 1
19088931294. 2
19088931295. 3

19088931296. 4

Question Number : 30 Question Id : 1908897851 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



There 1s an increase in the economy's productive capacity if there 1s:

An increase 1n Government spending

A decrease in Government spending

An increase 1 the economy's capital stock

An mcrease 1 the economy's rate of capital replacement

[ W R

Options :

19088931297. 1
19088931298. 2
19088931299. 3

19088931300. 4

Question Number : 31 Question Id : 1908897852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The law of downward sloping demand can be explamed in terms of:

The substitution effect

The income effect

Both the substitution and mcome effect
Neither the substitution nor income effect

[ W A

Options :

19088931301. 1
19088931302. 2
19088931303. 3

19088931304. 4

Question Number : 32 Question Id : 1908897853 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



All of the following cost curves are U’ shaped excepr the:

Average variable cost curve
Average fixed cost curve
Average total cost curve
Marginal cost curve

B B

Options :

19088931305. 1
19088931306. 2
19088931307. 3

19088931308. 4

Question Number : 33 Question Id : 1908897854 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: On the two dimensional graph, output 1s a function of cost, Y = f{(C ), ceferis
paribus.

Statement IT: At quantities smaller than the break-even point, there 1s a loss and at larger
quantities ther 15 a profit.

In the light of the above statements, choose the most appropriate answer from the options
below:

Both statements I and IT are true

Both statements I and II are false

Statement [ 15 correct but statement 1T 1s false
Statement I 1s mcorrect but statement IT 1s true

B R

Options :

19088931309. 1
19088931310. 2
19088931311. 3
19088931312. 4

Question Number : 34 Question Id : 1908897855 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The rate of return on mvestment ratio gives the net return on capital for every
rupee of average capital invested.

Statement II: Capital turnover ratio gives the gross income obtained for each rupee of capital
mvested over the year.

In the light of the above statements, choose the most appropriate answer from the options
below

Both statements I and II are true

Both statements I and II are false

Statement I 15 correct but statement IT 15 false
Statement I 15 ncorrect but II 15 true

B R

Options :

19088931313. 1
19088931314. 2
19088931315. 3

19088931316. 4

Question Number : 35 Question Id : 1908897856 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In the case of mortgage, the legal ownership of borrowed asset remains withthe
lending mstitution but the physical possession 1s with the borrower.

Statement II: Hypothecation refers to a legal transfer of ownership of property from a debtor
to creditor. The transfer of ownership becomes void as soon as debtor clears off the loan.

In the light of the above statements, choose the most appropriate answer from the options
below

Both statements I and IT are true

Both statements I and IT are false

Statement [ 15 correct but statement II 15 false
Statement I 15 incorrect but statement IT 15 true

B e B

Options :

19088931317. 1

:Nols



19088931318. 2
19088931319. 3

19088931320. 4

Question Number : 36 Question Id : 1908897857 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: The loans for tangible property such as machinery and equipment are generally
hypothecated loans.

Statement II: Liquadation 1s the process of buying assefs or securities, in order to get a better
liquid position.

In the light of the above statements, choose the most appropriate answer from the options
below:

Both statements I and IT are true

Both statements I and IT are false

Statement I 15 correct but statement II 1s false
Statement [ 15 mcorrect but statement II 15 true

B e B

Options :

19088931321. 1
19088931322. 2
19088931323. 3
19088931324. 4

Question Number : 37 Question Id : 1908897858 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

List I List IT
A. Explicit
Costs

B. Implicit costs II. All factors are vanable

C. Short run 1. Excess of revenue over costs

L. At least one factor of production 15 fixed in quantity

D.Longrun  |[IV. Out of pocket expenditure made by farmers to purchase inputs

V. Costs of the factors owned by farmers and used m own production
process

E. Profit

Choose the correct answer from the options given below:

I, ARV C-LD-BE.-II
2. A-V,B-IV.C-ILD-ILE-IO
3. A-IILB-IV,C-LD-ILE-V
4 A-IV,B-MLC-IL.D-LE-V

Options :

19088931325. 1

19088931326. 2

19088931327. 3

19088931328. 4

Question Number : 38 Question Id : 1908897859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

ListI List II
A_Oligopoly  |I. One buyer in the market

B. Monopoly  |IL. Few sellers in the market

C. Monopolistic IIT. Few buyers in the market

D. Oligopsony |IV. One seller in the market

E. Monopsony |V. Large sellers supplying/selling differentiated products

Choose the correct answer from the options given below:

AR WNENEDJIE
ATEBCE G-V DIV, EcH
A-HB-IVEC-VD-ALE-T
AT BT €= DIV, Bl

2

o O



Options :

19088931329. 1
19088931330. 2
19088931331. 3
19088931332. 4

Question Number : 39 Question Id : 1908897860 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

List I List IT

A Standard I. The money for which every mdividual 1s bound to accept in exchange for
money goods and services and in discharge of debts

B. Legal tender

oty II. Refers to actual medum of exchange which circulates m an economy

C. Fiduciary

o III. That money whose value as commodity 15 equal to its value as money

[V. Any form of money which has greater value in exchange than its
D. Money proper|. . . : = &
| mtrinsic value

E. Near money |V. Refers to simply claims to money

Choose the correct answer from the options given below:

A-ILB-LC-IV,D-ILE-V
A-IB-ILC-ML.D-V,E-IV
A_-MB-V,C-IV,D-LE-II
A-ILB-IC-IV,.D-ILE-V

e LD D =

Options:

19088931333. 1
19088931334. 2
19088931335. 3
19088931336. 4

Question Number : 40 Question Id : 1908897861 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II
A Royal commussion on agriculture il 1935
|B. Regulated Karanjia cotton market [II. 1954

'C‘ Directorate of marketing and mapec’rmn TII. 1928
_-D All India rural credit survey committee V. 1886

E. The congress agtana_n reforms committee ’V 1947

Choose the correct answer from the options given below:

1. A-IMIB-MIC-ID-IV.E-V

2 A-IMIB-IV,C-LD-ILLE-V

3. A-VB-IILC-IIILD-LE-IV

4 A-ILB-ILC-IV,D-OLE-V
Options :

19088931337. 1
19088931338. 2
19088931339. 3

19088931340. 4

Question Number : 41 Question Id : 1908897862 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the Governors of RBI who have served in India m choronological order from early
to latest:

A_DrD. Subba Rao

B. Dr Manmohan Smgh

C. Dr C. Rangarajan

D. M. Narasimham

E. Shaktikanta Das

Choose the correct answer from the options given below
A C,B.D E

D,A B.CE

D,B.C,AE
D,C.B.E A

o N I



Options :

19088931341. 1
19088931342. 2
19088931343. 3

19088931344. 4

Question Number : 42 Question Id : 1908897863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange the Acts and Statutory Orders formed by the Government of India from early to
latest year to protect consumers:

A The standards of weights and measures, Act

B. The prevention of food adulteration, Act

C. The agricultural produce (Grading & marking), Act
D. Bureau of Indian Standards (BIS)

E. The seeds, Act

Choose the correct answer from the options given below

1. ACB.DE
Y. CBAED
4 A TH Bk
4. C,B,A,E,D
Options :

19088931345. 1
19088931346. 2
19088931347. 3

19088931348. 4

Question Number : 43 Question Id : 1908897864 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following institutions based on year of set up in India from early to latest one:
A_Tea board of India

B. Cotton corporation of India

C. Marine products export development authority (MPEDA)

D. Agricultural & processed food products export development authority (APEDA)

E. Agricultural price commission (APC now CACP)

Choose the correct answer from the options given below

AEBC,D

ABCDE

E,ABC,D
E,ACB.D

N B e

Options :

19088931349. 1
19088931350. 2
19088931351. 3

19088931352. 4

Question Number : 44 Question Id : 1908897865 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the market statistics sources based on their periodicity of publication 1n the
mcreasing order of duration:

A_Bulletm on prices

B. Indian Journal of Agricultural Marketing
C. Economic Survey

D. Agricultural Situation m India

E. Economuc Times

Choose the correct answer from the options given below
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Options :

19088931353. 1
19088931354. 2
19088931355. 3

19088931356. 4

Question Number : 45 Question Id : 1908897866 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The level of money income increases:
A_If there 1s an mcrease in the price level
B. If there 1s an mncrease in the output of goods and services
C. If there 1s an increase i the price level or the output of goods and services
D. If there 1s fall in the price level
Choose the correct answer from the options given below:
. A only
. A and B only

1
2
3. A Band C only
4. B,CandD only



Options :

19088931357. 1
19088931358. 2
19088931359. 3
19088931360. 4

Question Number : 46 Question Id : 1908897867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In one of the following economic systems, all the factors of production are owned and
controlled by private sector:

A Capitalism

B. Socialism

C. Communism

D. Mixed economy

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. Band C only

4. B.C and D only

Options:

19088931361. 1
19088931362. 2
19088931363. 3

19088931364. 4

Question Number : 47 Question Id : 1908897868 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Markets are classified into perfect and imperfect on the basis of:
A Number of buyers and sellers

B. Degree of product differentiation

C. Free entry and exit

D. Time lag in the purchase and sale of commeodity

E. Knowledge of demand, supply and commodity price

Choose the correct answer from the options given below:

A only

. A and B only

A B, C and E only
B, C, D and E only

FER Ve (S I

Options:

19088931365. 1
19088931366. 2
19088931367. 3
19088931368. 4

Question Number : 48 Question Id : 1908897869 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Government raises funds by imposing taxes based on rates of proportion to perform
following protective economic and social functions:

A Proportional tax

B. Progressive tax

C. Regressive tax

D. Degressive tax

E. Service tax

Choose the correct answer from the options given below:
B only

A, B and E only

A Band C only
A, B, C and D only

L a =

Options :

19088931369. 1
19088931370. 2
19088931371. 3

19088931372. 4

Question Number : 49 Question Id : 1908897870 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a production function at a particular point of resource usage, TPP, APP and MPP are 30, 6
and 5 respectively. The Ep at that point 1s:

5.00
6.00
0.83
1.20

[ W e A

Options :

19088931373. 1
19088931374. 2
19088931375. 3
19088931376. 4



Question Number : 50 Question Id : 1908897871 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For 8 units of output, AFC 15 Rs 12.50 and AVC 1s Rs 81.25. TC at this output level will be:

Rs 93.75
Rs97.78
Rs 880.00
Rs 750.00

e N

Options :

19088931377. 1
19088931378. 2
19088931379. 3

19088931380. 4

Question Number : 51 Question Id : 1908897872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If cropped area 1s 198.36 million ha and net sown area 1s 140.15 nullion ha, then cropping
ntensity will be:

70.65%
706.50%
141.53%
14.15%

I O T

Options :

19088931381. 1
19088931382. 2
19088931383. 3
19088931384. 4

Question Number : 52 Question Id : 1908897873 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

If the elasticity of production 1s 0.2 and the APP 1s 10, then what 1s the marginal physical
product?

20.00
0.20
2.00
50.00

W B

Options :

19088931385. 1
19088931386. 2
19088931387. 3

19088931388. 4

Question Number : 53 Question Id : 1908897874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the production function Y = X + 4.2 X* - 0.2X°, what will be the level of resource use
corresponding to point of nflexion on TPP curve?

70.00
10.00
0.14
7.00

da W P

Options :

19088931389. 1
19088931390. 2
19088931391. 3

19088931392. 4

Question Number : 54 Question Id : 1908897875 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For the production function Y = 2000 + 7X - 0.02X”, find the level of resource use which
would give maximum output:

125
175
2000
140

B N

Options :

19088931393. 1
19088931394. 2
19088931395. 3

19088931396. 4

Question Number : 55 Question Id : 1908897876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume an asset Rs 400000 worth of a tractor with an expected life of 10 years and salvage
value of Rs 50000. The rate of annual depreciation with straight line method would be:

1. Es 50000
2. Rs 35000
3. Rs 350000
4. Rs 3500
Options:

19088931397. 1
19088931398. 2
19088931399. 3
19088931400. 4

Question Number : 56 Question Id : 1908897877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The mterest amount fo be paid at the end of second year for a loan amount of Rs 10000 taken
for 6 years (@ 12% p.a following partial/balloon repayment plan (wherein Rs 1000 to be paid
every year and remaming Rs 5000 1n the last sixth year) would be:

Rs 1200
Rs 960

Rs 1080
Rs 1000

o N o B

Options:

19088931401. 1
19088931402. 2
19088931403. 3
19088931404. 4

Question Number : 57 Question Id : 1908897878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
A_ Reserve Bank of India |1 1963
B. Deposit Insurance and Credit Guarantee Corporation 10 1935
C. Standard Chartered Bank of India 1 1978
:D_ Apgricultural Refinance Corporation IV. 1858

Choose the correct answer from the options given below:

A-ILB-IIILC-IV,D-1
A-IB-IIILC-IV.D-II
A-IIILB-IV,C-II,D-1
A-IIB-ILC-IIILD-IV

o R

Options :

19088931405. 1
19088931406. 2
19088931407. 3

19088931408. 4



Question Number : 58 Question Id : 1908897879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

List I List IT
A Agricultural Finance 1. UK Pandey
B. An Introduction to Agricultural Finance II. V.T Raju & D.V.S Rao

C. Fundamentals of Farm Business Management [III. A G Nelson & W.G Murray
D. Economics of Farm Production & Management IV. §.S Johal & T R Kapur

Choose the correct answer from the options given below:

A-ILB-OILLC-IV.D-II
A-IV.B-ILC-ILD-I
A-MLB-LC-IV.D-II
A-IIILLB-IV,C-ILD-II

W e

Options :

19088931409. 1
19088931410. 2
19088931411. 3

19088931412. 4

Question Number : 59 Question Id : 1908897880 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

A Canara Bank I. Chennai

B. State Bank of India II. Kolkatta
C. UCO Bank III. Mumbai
D. Indian Bank v Bengaluru

Choose the correct answer from the options given below:

A-LB-IC-IV,D-II
ATV BTG, D=1
A-ILB-LC. . D-H
A-IV,B-I,C-M,D-1I

R

Options :

19088931413. 1
19088931414. 2
19088931415. 3
19088931416. 4

Question Number : 60 Question Id : 1908897881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List T List TI

|A. Lead Bank Scheme [ M. Narasimham Committee

B. Differential Rate of Interest . Nariman Committee

C. Regional Rural Banks ITT. All India Rural Credit Survey

Committee
D. Agricultural Refinance & Development

3 {IV. RBI Commuttee
Corporation

Choose the correct answer from the options given below:

A-LB-IV.C-MLD-II
A-IB-INLC-II,D-IV
A-IILB-IV.C-ID-II
A-IILB-II,C-IV.D-I

T

Options:



19088931417. 1
19088931418. 2
19088931419. 3

19088931420. 4

Question Number : 61 Question Id : 1908897882 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: Accounting income 1s the procedure whereby the present value of the future
mcome 15 determined.

Statement II: The expression of farm plan in monetary terms by the estimation of receipts,
expenses and net income 1s called budgeting.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement IT 1s mcorrect
Statement I 1s mncorrect but Statement II 15 correct

B N s

Options :

19088931421. 1
19088931422. 2
19088931423. 3

19088931424. 4

Question Number : 62 Question Id : 1908897883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Higher the current ratio, the better will be the financial position of the busimess.
Statement II: Cropping intensity 1s expressed as: CI = {Net Sown Area/Cropped Area}* 100

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s mcorrect
Statement I 1s incorrect but Statement II 15 correct

T e B

Options :

19088931425. 1
19088931426. 2
19088931427. 3

19088931428. 4

Question Number : 63 Question Id : 1908897884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: The selling price must be less than the variable cost of producing each umt of
product m short run, 1f farming 15 to be carried on.

Statement II: Sociology provides information on human motivation and attitudes fowards
new techniques of agricultural production and their adoption.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 15 incorrect but Statement II 1s correct

e e

Options :
19088931429. 1
19088931430. 2

19088931431. 3



19088931432. 4

Question Number : 64 Question Id : 1908897885 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Proportionality relationships mvolve the short run production functions, of
which one or more factors are fixed.

Statement II: Scale relationships involve long run production functions, of which no factors
are fixed.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement IT are true

Both Statement I and Statement II are false
Statement I 15 true but Statement IT 15 false
Statement I 15 false but Statement II 15 true

B

Options:

19088931433. 1
19088931434. 2
19088931435. 3

19088931436. 4

Question Number : 65 Question Id : 1908897886 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange important books of economics as per year of publication from early to latest:
A. Theory of Employment, Interest and Money by J.M Keynes

B. Principles of Economics by Alfred Marshall

C. An Essay in Nature and Significance of Economic Science by Lionel Robbinson
D. Wealth of Nations by Adam Snuth

Choose the correct answer from the options given below
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Options :

19088931437. 1
19088931438. 2
19088931439. 3

19088931440. 4

Question Number : 66 Question Id : 1908897887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following crops as per their production from lowest to highest obtamed during
2019-20 m India.

A Soyabean

B. Maize

C. Wheat

D. Barley

Choose the correct answer from the options given below
D.B,A.C

B.A.D C

AD.BC
D.AR

A

Options :



19088931441. 1
19088931442. 2
19088931443. 3

19088931444. 4

Question Number : 67 Question Id : 1908897888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the important phases of project cycle in correct order:
A Monitoring

B. Implementation

C. Formulation

D. Evaluation

E. Appraisal

Choose the correct answer from the options given below
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Options :

19088931445. 1
19088931446. 2
19088931447. 3
19088931448. 4

Question Number : 68 Question Id : 1908897889 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following institutions as per year of establishment from early to latest.
A NIAM, Jaipur

B. MANAGE, Hyderabad

C. NAARM, Hyderabad

D. VAMNICOM, Pune

E. IIM. Ahmedabad

Choose the correct answer from the options given below
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Options :

19088931449. 1
19088931450. 2
19088931451. 3

19088931452. 4

Question Number : 69 Question Id : 1908897890 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Strategic management decisions relates to:

A What to produce

B. How much to produce

C. Construction of building

D. How to produce

E. When to produce

Choose the correct answer from the options given below:
A only

C only

A B and C only
A, B, D and E only

da ld 2

Options :

19088931453. 1
19088931454, 2
19088931455. 3

19088931456. 4

Question Number : 70 Question Id : 1908897891 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Following are undiscounted methods of project evaluation?
A Ranking by inspection

B. Proceeds per rupee of outlay

C. Payback period

D. Net present worth

E. Internal rate of return

Choose the correct answer from the options given below:
A and B only

D and E only

C, D and E only
A B and C only

Fa D =

Options:

19088931457. 1
19088931458. 2
19088931459. 3
19088931460. 4

Question Number : 71 Question Id : 1908897892 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The basic product-product relationships can be:

A Equivalency

B. Supplementarity

C. Complimentarity

D. Complacency

E. Homogenity

Choose the correct answer from the options given below:
A and B only

. Band C only

A, D and E only
A C,D and E only

N P S

Options:

19088931461. 1
19088931462. 2
19088931463. 3
19088931464. 4

Question Number : 72 Question Id : 1908897893 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Production functon can be expressed in the following forms:
A Social form

B. Tabular form

C. Cultural form

D. Graphic form

E. Algebraic form

Choose the correct answer from the options given below:

A only

. Band C only

C, D and E only
B, D and E only

R

Options :

19088931465. 1
19088931466. 2
19088931467. 3
19088931468. 4

Question Number : 73 Question Id : 1908897894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
"Extension programmes should start with local conditions" follows:

Principle of indigeneous knowledge
Principle of interest and needs
Fanmuly principle

Grass roots principle

[ R e A

Options :

19088931469. 1
19088931470. 2
19088931471. 3
19088931472. 4



Question Number : 74 Question Id : 1908897895 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The use of the term "Extension" oniginated in which country?

India
Australia
England
Netherland

fa i b

Options :

19088931473. 1
19088931474. 2
19088931475. 3

19088931476. 4

Question Number : 75 Question Id : 1908897896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Basic philosophy of extension education 1s:

How to think
What to think
When to think
For whom to think

[ R R

Options:

19088931477. 1
19088931478. 2
19088931479. 3
19088931480. 4

Question Number : 76 Question Id : 1908897897 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



"A statement of policy to guide decisions and actions in a consistent manner" 1s:

Principle
Goal
Philosophy
Gudeline

W

Options :

19088931481. 1
19088931482. 2
19088931483. 3

19088931484. 4

Question Number : 77 Question Id : 1908897898 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following programme comes under " Technology Development" concept?
A _TADP
B. IAAP
L I1CDP
D.HYVP
Choose the correct answer from the options given below:
A Band D only
Band D only

A B and C only
A B CandD

B e I

Options :

19088931485. 1
19088931486. 2
19088931487. 3

19088931488. 4

Question Number : 78 Question Id : 1908897899 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT a first-line transfer of technology project of ICAR?

Operational Research Project (ORP)

National Demonstration (ND)

Lab to Land Programme (LLP)

All India Coordinated Research Project (AICRP)

Fa i P =

Options :

19088931489. 1
19088931490. 2
19088931491. 3

19088931492. 4

Question Number : 79 Question Id : 1908897900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The basis of a caste system 1s:

Ascribed status
Achieved status
Power
Wealth

B N

Options :

19088931493. 1
19088931494, 2
19088931495. 3

19088931496. 4

Question Number : 80 Question Id : 1908897901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



"Prime Mimister Krishi Sinchayee Yojana (PMKSY)" was launched on:

1% July, 2015
12® Tuly, 2016
7% Tuly, 2015
10" July, 2017

W

Options :

19088931497. 1
19088931498. 2
19088931499. 3

19088931500. 4

Question Number : 81 Question Id : 1908897902 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
'AIDCAS' steps of extension teaching has been given by:

Paul Leagans

Edger Dale

Wilson and Gallup
Rogers and Shoemaker

o T

Options :

19088931501. 1
19088931502. 2
19088931503. 3

19088931504. 4

Question Number : 82 Question Id : 1908897903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following methods are used for locating rural leaders:
A Sociometric method

B. Self observation method

C. Key informant rating

D. Bramstorming

Choose the correct answer from the options given below:

1. AandD only
2. Band C only
3. A and B only
4. A BandC only

Options :

19088931505. 1
19088931506. 2
19088931507. 3

19088931508. 4

Question Number : 83 Question Id : 1908897904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Extension method best suited to 'tackle a burning problem at an opportune fime' 1s:

Field trip
Campaign

Group Discussion
Adaptive trials

o R

Options:

19088931509. 1
19088931510. 2
19088931511. 3
19088931512. 4

Question Number : 84 Question Id : 1908897905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
BGREI ( Bringing Green Revolution to Eastern India) was launched during:

Sixth five year plan
Fifth five year plan
Eighth five year plan
Eleventh five year plan

[ R

Options :

19088931513. 1
19088931514. 2
19088931515. 3

19088931516. 4

Question Number : 85 Question Id : 1908897906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All first line transfer of technology projects of ICAR have been mntegrated with the Krishi
Vigyan Kendra (KVKs) with effect from:

11® April, 1994
21¥ May, 1993
17 April, 1992
2" May, 1996

I

Options :

19088931517. 1
19088931518. 2
19088931519. 3

19088931520. 4

Question Number : 86 Question Id : 1908897907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

List I List II
‘A National Research Centre for women 1n Agriculture I. Ludhiana
|B. Central Potato Research Institute | |IT. Or1ssa
C. National Institute of Agricultural Extension Management |III. Shimla
D. Indian Institute of Maize Research V. Hyderabad

Choose the correct answer from the options given below:

1. A-IILB-IMI,C-IV,D-1

2 A-MIB-ILC-IILD-IV

3. A-LB-IV,C-IILD-IIT

4 A-IILB-IV.C-LD-IV
Options :

19088931521. 1
19088931522. 2
19088931523. 3

19088931524. 4

Question Number : 87 Question Id : 1908897908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Decentralized bottom up extension includes the approaches as:
A Traming and Vistt system (T&V)
B. National Agricultural Technology Project (NATP)
C. Agricultural Technology Management Agency (ATMA)
D. Agricultural Technology Information Centre (ATIC)
Choose the correct answer from the options given below:

A only

B and C only

B, C and D only
A B CandD

[ W R

Options :
19088931525. 1



19088931526. 2
19088931527. 3

19088931528. 4

Question Number : 88 Question Id : 1908897909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT

A Blue print of behaviour L. Custom

B. Hierarchy of group or individual 1n society II. Religion

C. Set of beliefs 1n supernatural power IIL. Social stratification

D. Way of behaving 1n society IV. Norms

Choose the correct answer from the options given below:

A-ILB-LC-IV,D-II
A=~IV.B-IIL C-T.D-1
A-ILB-IV,C-LD-II
A~IV.B-LC-T.D-Ti

o bl d

Options:

19088931529. 1
19088931530. 2
19088931531. 3
19088931532. 4

Question Number : 89 Question Id : 1908897910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Statement I and the other 1s labelled as
Statement I1

Statement I : Life long learning involves all forms of education.

Statement II : Learning never ends 1s the major concept of life long learning.

In light of the above statements, choose the correct answer from the options given below
Both statements I and II are true

Both statements I and II are false

Statement I 1s true but statement II 1s false
Statement I 1s false but statement IT is true

B e

Options :

19088931533. 1
19088931534. 2
19088931535. 3

19088931536. 4

Question Number : 90 Question Id : 1908897911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The term 'extension education' was first used m which year:

1. 1853
2. 1873
3. 1902
4. 1876
Options:

19088931537. 1
19088931538. 2
19088931539. 3
19088931540. 4

Question Number : 91 Question Id : 1908897912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List II
A Panchayati Raj Institutions |I. A T Mosher
B. Indian Village'Sﬂ'ﬂ'ee II. RN Tagore
C. The Fiscal Commission  |[II. B R Mehta _
D. Sriniketan Experiment IV. Govt. of India

Choose the correct answer from the options given below:

7. 7 s O 8 0N Lt W ||
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Options :

19088931541. 1
19088931542, 2
19088931543. 3

19088931544. 4

Question Number : 92 Question Id : 1908897913 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The "Extension Educational Process' follows the steps:
A Situation, Objectives and Teaching
B. Objectives, Teaching and Evaluation
C. Situation, Objectives, Teaching, Evaluation and Reconsideration
D. Teaching, Evaluation and Reconsideration
Choose the correct answer from the options given below:
1. A BandD only
2. BandD only
3. Aand D only
4. Conly
Options:

19088931545. 1



19088931546. 2
19088931547. 3

19088931548. 4

Question Number : 93 Question Id : 1908897914 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Social position in a society 1s known as:

Status
Caste
Power
Role

[ W A

Options:

19088931549. 1
19088931550. 2
19088931551. 3
19088931552. 4

Question Number : 94 Question Id : 1908897915 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List I List II
A. Learning by doing  |I. Group contact method
B. Seemg 1s believing  [II. Method demonstrations

C. Exhibitions III. Result demonstrations
D. Telephone calls IV. Mass contact method
E. Tours V. Individual contact method

Choose the correct answer from the options given below:

A-TIIB-IILC-IV,D-V,E-I
A-IVB-V.C-ID-IIILE-II

A-ILB-IIILC-IV,D-V, E-I
A-V.B-IILC-IV.D-ILLE-I

W R R



Options :

19088931553. 1
19088931554. 2
19088931555. 3
19088931556. 4

Question Number : 95 Question Id : 1908897916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Statement I and the other 1s labelled as
Statement I1

Statement I: Extension 15 generally thought of at two levels 1.e. extension education and
extension service.

Statement II: These two levels are interrelated by maintaining their separate identity.

In light of the above statements, choose the correct answer from the options given below
Both statements I and II are true

Both statements I and II are false

Statement I 15 true but statement 1T 1s false
Statement I 15 false but statement IT is true

[ B e

Options :

19088931557. 1
19088931558. 2
19088931559. 3

19088931560. 4

Question Number : 96 Question Id : 1908897917 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



"Expressions of the ends towards which efforts are directed’ 1s defined as:

Programme
Policy

Amm
Objective

B

Options :

19088931561. 1
19088931562. 2
19088931563. 3

19088931564. 4

Question Number : 97 Question Id : 1908897918 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following 1s/are impersonal cosmopolite channel(s)?
A. Radio
B.TV.
C. Local people
D. Extension agents
Choose the correct answer from the options given below:
A only
A and B only

A, B, and C only
A B, C and D only

b g

Options :

19088931565. 1
19088931566. 2
19088931567. 3

19088931568. 4

Question Number : 98 Question Id : 1908897919 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following characteristics of human communication process 1s applicable?
A. Human communication 15 complex
B. Continuous
C. Circular
D. Two way process
Choose the correcr answer from the options given below:
A only
A and B only

A B and C only
. A B, Cand D only

N B

Options :

19088931569. 1
19088931570. 2
19088931571. 3

19088931572. 4

Question Number : 99 Question Id : 1908897920 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: While communication reduces time lag, the communication process itself may
mvolve some time lag.

Statement II: The production of noise reduces fidelity.

In light of the above statements, choose the mosr appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement IT 15 mcorrect
Statement I 15 incorrect but Statement IT 1s correct

B T s I

Options :



19088931573. 1
19088931574. 2
19088931575. 3

19088931576. 4

Question Number : 100 Question Id : 1908897921 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
"Grape Vine Communication" 1s known as:
A Informal Communication
B. Verbal Communication
C. Horizontal Communication
D. Upward Communication
Choose the correct answer from the options given below:
A only
A and B only

A B and C only
A. B, C and D only

i P

Options:

19088931577. 1
19088931578. 2
19088931579. 3

19088931580. 4

Question Number : 101 Question Id : 1908897922 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s mdividual Communication method?

Result Demonstration
Method Demonstration
Adaptive trials
Farmers' Day

[

Options :

19088931581. 1
19088931582. 2
19088931583. 3

19088931584. 4

Question Number : 102 Question Id : 1908897923 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following cognitive decision stage is a vital step prior to practice adoption?

Awareness stage
Evaluation stage
Decision stage
Symbolic adoption

R e R

Options :

19088931585. 1
19088931586. 2
19088931587. 3

19088931588. 4

Question Number : 103 Question Id : 1908897924 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the United States, the "County” 1s equivalent to Indian:

Village
Dastrict
Gram Panchayat
Panchayat Samiti

W R

Options :

19088931589. 1
19088931590. 2
19088931591. 3

19088931592. 4

Question Number : 104 Question Id : 1908897925 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 15 NOT the element of Leagans Model of communication?

Communicator
Encoder and Decoder
Channel

Treatment

a2

Options :

19088931593. 1
19088931594. 2
19088931595. 3

19088931596. 4

Question Number : 105 Question Id : 1908897926 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s termed as ' Mental wrappmg'?

Encoding

Audience response
Decoding

Treatment of Message

Fa i b =



Options :

19088931597. 1
19088931598. 2
19088931599. 3
19088931600. 4

Question Number : 106 Question Id : 1908897927 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Geo- Centric satellites on channels for teleconferencing are needed for distant
countries?

Two
Three
Four
Five

B e

Options :

19088931601. 1
19088931602. 2
19088931603. 3

19088931604. 4

Question Number : 107 Question Id : 1908897928 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I wath List IT

List I {List IT

A Berlo I. Source, Message, Channel, Receiver, Effects
B.Schramm(1961) id Speaker, Speech, Audience

C. Rogers and Shoemaker I émm:e, Eﬁcoder._ Message, Channel Decoder,
(1971) Receiver

D. Anstotle IV. Source, Encoder, Signal, Decoder, Destination

Choose the correct answer from the options given below:

A-ILB-NIILC-IV,D-1
A-ILB-II,C-ILD-IV
A-IV.B-IILC-ILD-I
A-IB-IV,.C-1,D-II

N R I

Options :

19088931605. 1
19088931606. 2
19088931607. 3

19088931608. 4

Question Number : 108 Question Id : 1908897929 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Depending on a particular theme, the campaign may be orgamzed for:
A asingle Day
B. a few weeks
C. a few Months
D. a few Years
Choose the correct answer from the options given below:
A only
. A and B only

A B and C only
ABCandD

R

Options :



19088931609. 1
19088931610. 2
19088931611. 3

19088931612. 4

Question Number : 109 Question Id : 1908897930 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following gives only imtial 1dea and cannot furnish detailed information?

Posters

Flash cards
Flannel Graphs
Flip Charts

A I I

Options :

19088931613. 1
19088931614. 2
19088931615. 3

19088931616. 4

Question Number : 110 Question Id : 1908897931 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the Communication barriers 1s related to the meaning of words and sentences?

Cultural
Physical
Semantic
Psychological

e B

Options :

19088931617. 1
19088931618. 2
19088931619. 3
19088931620. 4



Question Number : 111 Question Id : 1908897932 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which one 1s the important tool of cyber Extension?
A Gopher, Archie, veronica
B. E- mail
C. File Transfer Protocol (FTP)
D. world Wide Web (www)
Choose the correct answer from the options given below:

A only

B only

B and C only
A B CandD

[ P I

Options :

19088931621. 1
19088931622. 2
19088931623. 3
19088931624. 4

Question Number : 112 Question Id : 1908897933 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who pointed out that " diffusion and adoption of all innovations 1s not necessarily desirable"?

Wilkening(1956)

Ramsey ef al (1959)

Rogers and Shoemaker (1971)
Bradbury (1978)

B e

Options :
19088931625. 1

19088931626. 2



19088931627. 3
19088931628. 4

Question Number : 113 Question Id : 1908897934 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: According to North central Rural Sociology sub commuttee for diffusion of
farm practices (1955), five stages of adoption process are not rigid patterns which people
follow. nor a set of exclusive and discrete categories with no overlap.

Statement II: At any stage, the recommendations can be thrown off. There can be jumping
from one stage to another.

In light of the above statements. choose the most appropriate answer from the options given
below

Both statement I and statement I incorrect.

Both Statement I and Statement IT are correct.
Statement [ 1s correct but Statement I 15 incorrect
Statement I 1s incorrect but Statement IT 15 correct

B e I

Options :

19088931629. 1
19088931630. 2
19088931631. 3

19088931632. 4

Question Number : 114 Question Id : 1908897935 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one 15 the correct sequence of stages in "Innovation Decision process” in preference to
" adoption process"?

A Knowledge

B. Decision

C. Implementation

D. Persuasion

E. Confirmation

Choose the correct answer from the options given below
AD.B.C.E

AB,C,D.E

D,B,A,CE
A C,EB,D

bt el

Options :

19088931633. 1
19088931634. 2
19088931635. 3

19088931636. 4

Question Number : 115 Question Id : 1908897936 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following adopters' categories on the basis of relative time of adoption of
mnnovations in the correct order.

A Innovators

B. Early majority
C. Early Adopters
D. Laggards

E. Late majority

Choose the correct answer from the options given below

1. CB ADE
2. ABERCD
3. AC,BED
4 BECAD
Options :

19088931637. 1
19088931638. 2
19088931639. 3

19088931640. 4

Question Number : 116 Question Id : 1908897937 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List II

A Awareness stage L. Informal or Expert fellow farmers
|B Deliberation stage II. Self experience gained at trial stage

C. Tnal stage tfm' new enterprié.e) IIL. Informal personal source, fanuly members
|D. Adoption stage IV. Change agent, Mass Media, other farmers

Choose the correct answer from the options given below:

A-IV,B-I,C-ILD-II
A_-ILB-IV,C-IID-I
A-EB-HEC-TV.D-

C %

A-MB-LC-ILD

N

I
v



Options :

19088931641. 1
19088931642. 2
19088931643. 3
19088931644. 4

Question Number : 117 Question Id : 1908897938 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Farmer- led Journalism does not provide final answer or standard
recommendation on new techniques or technologies.

Statement II: The level of agricultural communication in print media in India 1s fairly high
i comparison fo many other countries, but still not close to an adequate level.

In light of the above statements, choose the most appropriate answer from the options given
below

Statement I 15 incorrect but statement II 15 correct.
Statement I 15 correct but statement II 1s incorrect
Both stament I and statement IT are correct.

Both stament I and statement II are incorrect.

B e T

Options :

19088931645. 1
19088931646. 2
19088931647. 3

19088931648. 4

Question Number : 118 Question Id : 1908897939 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: For proper human resource development, more school or college 15 enough.

Statement II: Both education and tramning have similarity as both the components seek to
help individuals to learn.

In light of the above statements, choose the mosr appropriate answer from the options given
below

Both Statement I and Statement II are incorrect.
Statement I 1s mcorrect but statement II 15 correct.
Both statement [ and statement II are correct
Statement I 1s correct but statement II 1s incorrect.

B e

Options :

19088931649. 1
19088931650. 2
19088931651. 3

19088931652. 4

Question Number : 119 Question Id : 1908897940 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List II
List T List II
|A. Simulating real life sifuation I Sensitivity traming

B. Traming in the field on the job II Apprenticeship, craftmanship trainjng.
C. laboratory Training |IIT. Role playmng, in basket training
D. Individual Training or Counselling IV. Training to impart skill

Choose the correct answer from the options given below:

A-LB.0EC- . D-H
AT BT CSIED T
ARV C-HLD-I
AMER-I C-1.D-IV

o o B

Options :
19088931653. 1

19088931654. 2



19088931655. 3
19088931656. 4

Question Number : 120 Question Id : 1908897941 Question Type

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List II

List I [List IT

A Late Majority I. Localite

B. Early MHJ ority I1. Suspecious of Innovations
lc. Early adc:l;'-ter'; \ITI. Deliberate

D. Laggarda IV. Cautious and skeptical

Choose the correct answer from the options given below:

1. A-IIILB-ILC-IV,D-1

2. AT B-ILC L. D-H

3. A-ILB-IV,C-III,D-1

4 A-ILB-IILC-IV.D-III
Options :

19088931657. 1
19088931658. 2
19088931659. 3
19088931660. 4

: MCQ Option Shuffling : No



